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TRANSCELL TECHNOLOGY, INC. Others

C&YV Signal Amplifier

Schematic zzs=

Zero Calibration ( ZE% )

Turn clockwise (IE#&) : Up (#)

Turn anticlockwise (%) : Down (%)

Make sure the load cell is at zero, adjust the

potentiometer to make the output voltage

[ > N 0 volt and the current 4 mA. ( BEERHEES
= | RS, BT REREE , EMHEEEOVEE |

HEBRAE4mA )

Best supply voltage range (ftE8FEEREEE)
15VDC~30VDC

The wiring diagram is for four-wired load cell.
If it is to be connected with six-wired laod cell, .
do parallel the excitation wire and the sense L :
wire. ( Elfp AP HIERmEERITA , EmEnEs ||
BRNEHINES ISR SRR BRIER )

Transmitter DC power
e supply + (Red)
@ P TIABERER + (D

Transmitter DC power

|
o

Load Fell EXCi + (Red) T supply — (Black)
{ERRERRR + (L) WIARERBIR - (FB)
Load Cell SIG + (Green) v
EREES + B
Load Cell EXC — (Black) &= Analog valtage oot
TERSEERE - (B) | = N
Load Cell SIG — (White) e o) = gﬁj%%&ﬁ&mﬂj
EREEE - (@) i | =
o - ‘ ) ‘H I | Analog current output
+EXC } e — L R
: | +SEN ii'i‘ﬁ} :El Full-scale Calibration ( SPANEZiFE ) = %%%m/imjw
| - = i 5
| g_ S E‘ﬁ} NE i C|0FkWISE (. IH=) UP (7) There are two ways for analog output, in which
EXC #h Turn anticlockwise (&%) : Down (&) e :
| o A . : the IG is the common ground terminal. Only
+SIG FS g | Make sure the load cell is at the actual maximum choose one way in using. (R EETRIRHE
- SIG {55 =TT value (=10mV), adjust the SPAN potentiometer | 2 Eq:IG?g,\ﬁ};%mu {%ﬁﬁﬂa‘ﬂﬂifﬁg—ﬂﬁ)
\“——o0 SHILD R || tomake the output voltage 10 volt and the current ke il -
20 mA. (FEERBEBRERE(Z10mVIIRET , B
SIX-WIRED (7£&#) SPANEB{UES , {EHFREFEOVEHItEBREImA )
Page 129 Catalogue Version V2.10

PV I nn“scill


WWW.OCTSOURCES.COM

